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Which of the following is an autoimmune disease?
(A) Cystic fibrosis

(B) Sickle cell anemia

(C) Rheumatoid arthritis

(D) Alzheimer's disease

frafafiga & 4 #F W u% affdgRE I 37

(A) fafes wrEsitaE

(B) Tompe &@ wAimEr

(C) wHeras andusfem

(D) eresgaT T

Which of the following devices has a cylindrical
drum called a 'photo receptor'?

(A) Keyboard (B} Laser printer

(CY loystick (D) Flatbed plotter

e & & foFE STew ¥ s Iemet 39 B E,
Tk BT EET wEd § 7

(A) &EE (B) w=t fifex

(C) Taie® (D) s wieX

Choose the correct Hindi translation of the
following word from the given options :

Memo
(A) sTedad U (B) 3TA
(C) gy (D) wgifa

A circular grass field of diameter 42 mds
surrounded by a path of width 3.5 m. What will be
the cost of graveling the path at the rates@ad, per
square meter?

42 A =" % ga@R g9 & HIM HFE 9 o
3.5 97 9T e ¥ U H T 4 giage ’Hiea@! < |
Hhs AN &1 @d w1 Ty

(A) T 2002 (B) ¥ 500.5

(C) T2012 (D) T 1001

The healthy bacteria that synthesizes B-complex
vitamins in the Gastrointestinal tract -

(A) Bacillus cereus

(B) Bifidobacteria

(C)y E. coli

(D) Staphylococcus aureus

TR ST A1 TS Tl § di—hirrad &I ®
Hoalfid el &, 98 & -

(A) SiwE HE

(B) faftpeiwdian (Rftpeisiiany)

(C) £. ®rmg

(D) WEEErHES AT
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Who coined the term Heterosis?
(A) Jones (1918)

(B) Allard (1960)

(C) G.H. Shull (1914)

(D) Kolreuter (1763)

§I& H&T ol e wiauiiag fean 7
(A) =g (1918)

(B) werE (1960)

(C) =h.ud, s (1914)

(D) HarEgeT (1763)

The Lac is secreted by which part of the lac insect?
(A) Skin

(B) Salivary glands

(C) Abdominal glands

(D) Anal opening

T e hE AT ¥ @@ H SEOT B § 7

(A) war

(BYN@R iy

(C), st i

(D) T

Choese the correct option :

A tender is a written information/invitation:

(A) sent to potential suppliers of goods & services
(B) sent to buyers for goods & services

{C) sent for govt. institutions only

{D) sent to private institutions only
Which file system Windows 10 uses?
(A) FAT 16 (B) FAT 32

(C) NTFS (D) LMES

faei 10 &F-a1 ®rEw fed wGm s 80
(A) w2 16 (B) e 32

(C) wémeTE (D) TewUHIE

A mixture of alcohol and water can be best
separated by -

(A) Evaporation

(B) Sublimation

(C) Fractional distillation

(D) Decantation

UEBIGIA ST od o U] bl G99 T a6E § o/
foman = W % -

(A) arsfisiu g

(B) FeAYEA T

(C) ol SmEes &

(D) T gm0
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How much reward is provided to couples under
Dr. Savita Ben Ambedkar Intercaste Marriage
Scheme in Rajasthan?

ToRE ¥ =, |fadn 99 amEssl s faame
IS % =Id Sirs! o 6 AW & s &7
(A) T5Lacs /W@ (B) ¥ 2.5 Lacs / i@
(C) ¥ 10 Lacs /sm@ (D) T 7 Lacs / @™

A human somatic cell has chromosomes.

U WG Hiiah B H o eld €|
(A) 23 (B) 46
(€©) 50 (D) 28

Which committee recommended to abolish existing
bench of Rajasthan High Court at Jaipur in 1958?
(A) Satvanarain Rao Committee

(B} Girdhari Lal Vyas Commitiee

(C) Madhukar Gupta Committee

(D) Suresh Mathur Committee

form | 1 fawiest X 1958 % Teeq 397 =
B SEYT o9 B TG AT T AT 7

(A) wEIEY Ta wiifa

(B) Preyrd @ma = |ftg

(C) =y T wfHfa

(D) Gar AgT FHf

A pole 6 m high casts a shadow 243 .m long of

the ground. At that instant, the angle oflelevation
of the sun is -

T 6 W SHAT W TEE 9T 243 W o s S
T TE @9 g B AT BT e
(A) 30° (B) 45°
(€) 60° (D) 90°

The different layers in graphite are held
together by -

(A) lonic bonding

(BY Weak Van der Waal's forces

(C) Metallic bonding

(D) Covalent bonding

g H fafh= T U wy i A R -
(A) @rafyen 99 &

(B) 399 99 ST a9 99 &

(C) s & &

(D) wedawE 99 9
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The following pie diagram represent the teachers
working in a college in five different faculties. If
the total number of teachers in the college is 108
then how many more teachers are there in total of
Arts, Law and Education than the remaining two
faculties?

Frtafen o fas s Tergaed ¥ HEL 9 fata=
deprdl & farerenl @l wafia wtar ¥ 1 afy werfyenag §
e 108 e & 79 e, fafa e firen & e e
sy g1 dwrl & fpam st € 7

Education
Tara

Commerce

Law LRI
fafy

Sciéfice Arts
fasm ol

(A) 4 (B) 3

Q) 6 (D) 7

trefitad & ¥ W @ amEEw o= 99E -
(A) 9w, W, e (B) w@nf, 5@, wrw
(©) @i, gd, 9@ (D) <=, @, 99%

Which of the following style of painting is known
for paintings based on Gitgovinda?

{A) Marwar (B} Mewar

(C) Mewat (D) Kishangarh
Frafafad # ¥ wm-a femsian M9 mfes W amarfa
o=t & forg st S # 7

(A) #RaTE (B) Wtz

(C) vaw (D) fwsTe

Where is Rajasthan Spinning and Weaving Mill
located?

(A) Ajmer (B) Beawar

(C) Bhilwara (D) Bhiwadi

TeteaE Rl uus fafan fie wet wnftm & 8 87
(A) oY (B) =T

(C) et (D) frandl

Which fort of Jaipur has the cannon foundry in it?
(A) Amber Fort (B) Nahargarh Fort

(C) laigarh Fort (D) Moti Dungari

SAYT % feE 1 H A9 9 @ swErn ¥ 7

(A) oTHTTE (B) TETTE

(C) wre (D) =it gl
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The State Council of Ministers shall hold office
during the pleasure of the -

(A) Governor (B} Chief Minister

(C) Speaker (D) Party President

T HPfteg 9o 98 9T S @ &
EE vdd|

(A) U (B) qeHs

(€) e (D) Tt areme

From the following peaks of the Himalayas, which
is NOT in Nepal, is -

(A) Annapurna (B} Dhaulagiri

(CYy Kamet (D) Makalu

ferrer a1 Foefafaa aifeai o & S Ao # 725 %,
T E -

(A) sr=igaf
(C) &2

(B} eienfirdt
(D) weBTe]

Choose the most apt English translation of the
following sentence.

EEREIGECIEEEELN

(A) He had a hair escape.

(BY He had a narrow escape.

(C) He had an escape by hair.

(D) He was narrowly escaped.

A metal which does not form a mononucleas
carbonyl is -

U H1g W IHANGDE HEie TR S §, € -
(A) Mo (B) Fe

(C) Co (D) V

Gluten free diet is prescribed for patients
suffering from -

(A) Celiac disease (B} Hypestension

(C) Diabetes (I2) Hepatitis

A A SER 31 ARl & ol wearted fear sman
& o dfed ¥ -
(A) diferes T &

(C) wgiE &

In a code language DEBTOR is written as
DGFTQV then how ENWRAP will be written in
the same code language?

% §2 99 § DEBTOR & DGFTQV feren siman &
a1 36 %z wror ¥ ENWRAP &f forg were foran
ST 7

(A) GPYTCR
(€)Y YPGRCT

(B) 3= W@@M ¥
(D) TFasiy &

(B) RCTYPG
(D) TCRGPY

AMG 1 /\
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Who appoints the chairman and members of Joint

Public Service Commission for two or more states?

{A) Prime Minister

(B) Governors of the concerned state

(C) President

(D) Chairman of Union Public Service
Commission

a1 W ke Tl % fT HgE Wi @A SET %

sreme e i &) PR e T A o 37

(A) WuHEHET T

(B) ut & Tewurel g1

(C) Tguid =

(D) €9 die Tar ATEN & 1w &0

Which operator is used for absolute cell reference
in MS Excel?

T M1F U § BM-H1 STl THIE 8d (6O
o/ feTo waEmT Tomam ST 7

(A)"% (B) V

(Cly ? (D) =

With gegard to ecological food chain, man is a -
(A) “Producer

(B) Consumer

(C) Both producer & consumer

(D) Producer & decomposer

GE @A F AN, TH e -

(A) IWE®

(B) SUHrEE

(C) S@Es ud Suigdl S

(D) IUEs T STIeH

District Judges are appointed by -
(A) Chief Justice of India

(B) Chief Minister

{C) Governor

(D) President of India

fore =mader Frge fed S ¥ -
(A) WE & 9ged e &

(B) e @i &

(C) UsauT gra

(D) ¥Ed & TEdg &

Choose the appropriate one-word substitution :
One who plans and draws the design of buildings
and superintends their construction.

(A) Designer (B) Draughtsman

{C) Architect (D) Compositor
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If P's income is 40% above Q's, then how much
percent is ('s income below P's?

afg P & o Q ¥ 40% otfyes %, 99 Q &1 &g P
" e iderd &9 & 7
(A) 40% (B) 28%

©) 28%% (D) 28%%

Where is the new reserves of good quality of lignite
found in Barmer district?

(A) Palana (B) Kapurdi

(C) Barsingsar (D) Merta

qrEY e # ol e & fage & e wet
Pt &7

(A) et HLLE
(C) =RfdesR REGL

(B)
(D)

SD RAM stands for

(A) Straight Dynamic RAM

(BY Surface Dyvamic RAM

(C) Swnchrenous Dvnamic RAM

(D) Serial Dynamic RAM

wwsl W (SD RAM) & awad % —

(A) &2 sER® ™ (Straight Dynamic RAM)

(B) wt%h® 3R 1 (Surface Dyamic RAM)

(C) Toshr@ SRR 1 (Synchronous Dynamig
RAM)

(D) #ite s T (Serial Dynamic RAM)

2

The simple interest on ¥ 78,000 at 6% per affitim
2

for 9 months is -

2

T 78,000 ®1 6<% Wig a¥ o7 T F 9 AIE ), HET0
J

o6 ' —

(A) T 3,300 (BY ¥ 3,500
(C) T 3,600 (D) T 3900
frpafofaa & & fed g § dg wwrg T80RE 7
(A) sy (B) =11
(C) sirem-—=Tm (D) spvmrE

An example of electrophilic substitution

reaction is -

(A) Chlorination of methane

(B) Conversion of methyl chloride to methyl
alcohol

(C) Nitration of benzene

(D) Formation of ethylene from ethyl alcohol

e SR Wi aifufpar @ saet ¥ -

(A) T & FACB L

(B) Tramza wzs &1 HuEa UebEd § 9Edd

(C) S @ ATEEmTT

(D) zuEa Uwmieia § UdwE ®1

AMG 1 /\
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Government of India has fixed the goal to achieve
TB Free India by

CIEGECECO R deh Al Ha WG Bl oed
fFraffa fear 31

(A) 2025 (B)y 2027

(C) 2030 (D) 2028

When was ‘Elephant Project’ started?

(A) February, 2002 (B) February, 1992
(C) April, 2002 (D) April, 1992
T af e ®a aTe @ T

(A) ®wTEd, 2002 (B) wead, 1992
(C) arie, 2002 (D) @i, 1992

In a concave lens, the image formed is always :
(A) erect and real

{B) erect and virtual

{(C)finverted and real

(I2) invertediand virtual

Sade@d o wiara SN B & -

(A), GrEmwe arEra®

(B) gy ud snvr

(C) 3T U4 ardreas

(D) BT Td STHTET

lir which year Amir Khan was recognised as Nawab
of Tonk by the British?

(A) 1816 A.D. (B) 1817 A.D.

(C) 1818 A.D. (D) 1823 AD.

U 7 R @ w9y e % @ @ A
U= 7
(A) 1816 3.
(C) 1818 €.

(B) 1817 €.
(D) 1823 .

(x* +5x* +6x%) is equal to -

(x* 4+ 5x° +6x7) TUEAT &

(A) *(x+3x+2) (B) x(x* +3)x+2)
(C) Px-3Hx—2) (D) x(x*+2)(x+3)

Patentibility criteria does not includes -
(A) Novelty

(B) Inventive step

(C) Capable of Industrial application
(D) Published data

UdZ WUEs § T grEtad el ¢ 7

(A) T

(B) oniaernisie ®&q

(C) afrentites UM &Y § Haw

(D) wehiar aHiehs
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When was National Rural Employment Guarantee
Act was enacted?

(A) September 2005 (B} October 2006

(CYy February 2005 (D) January 2008

TE AT TS ML AUTGH b w7 g3 ?
(A) faa=w 2005 (B) arereEy 2006

(C) weadl 2005 (D) sl 2008

Due to friendly relations of the Kachhawaha rulers
of Jaipur with the Mughal emperors, the coins
issued by them were known as

(A) Vijayshahi (B) Dinar

(C) Bhiladi () Jharshahi

WA 9TER & WY G d9Yl & wRO SGYL &
HESATE] ST &0 AT by Ty fres

HEATd Y|
(A) fasasmEr
(C) Praidl

(B) T
(D) s

Choose the correct indirect speech of -

He said to her, "If what you say is true [ must go
to the police.”

(A) He said that if what he said was true, he
would have to go to the police.

He said that if what she said was true, 41e
must go to the police.

He said that if what she said is true shé must
2o to the police,

He said that if what she said was true 1 must
go to the police.

(B)
(©)
(D)

Which family is famous for 'Theva,art'?
(A) Khandelwal family

(B} Gehlot family

(C) Shekhawat family

(D) Soni family

‘g Her & AU wig wfER s e

(A) Gv=daE aiEm

(B) TE@d 9@t

(C) srEmEg i@

(D) TFT qfEm

‘T® ® BE-| IUGT &7

(A) W (B) =i
(C) wall (D) w:
A & qATETEr T -

(A) & (B) #qY
(C) ebt (D) el
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Which of the following plants yield fibre, oil and
fodder?

{A) Flax (By Cotton

(C) Groundnut (D) Jute
frefaias & & feg ue & 191, 99 T 900 U
T B 7
(A) ey
(C) medt

(B) &
(D) 52

Choose the correct option given below :
They gave her a clock. (change into passive)
{A) She was given a clock.

(B) A clock is given to her.

(C) She has been given a clock,

(D) A clock was being given to her.

Space mission named Artemis 1 was launched by-

(A) I8RO (B) JAXA

(C)) NASA (D) ESA

arethe/ 1 e simtee faem wra feman mn —
(AWASRO I (By JAXA 31U

(C) NASA g (D) ESA BrIU

If cos®+cos”0=1then what is sin0+sin*®

equal to?

afy cosO+cos 0=1 % dr sin®@+sin*6 T
AT F 7

By ~

®) 5

(D) 2

(A) 0

) 1

When data changes in multiple lists and all lists
are not updated, this causes :

{A) Data Redundancy

(B) Information Overload

{C) Data Concurrency

(D) Data Inconsistency

o 3 il § <1 gae S g, 9 g ot suge

Tl B, THH A998 H BT %
(A) =t dEEE
(B) IARMIE atds
(C) =TT s
(D) =TT ZHiaedr
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The ratio of the son's age to the father's age is
1: 4. The product of their ages is 196. The ratio
of their ages after 5 years will be -

Uh Y3 Ud 36 fUdT Y oIy 1 AUt 1: 4 3| IR
HAY ® w196 B1 5 a9 91 I Ag W A
A -

(A) 3:10
(C) 5:14

(B) 4:11
(D) 4:13

“Uehth' 9TE T WET WU TqemE & -
(A) us + Uk (B) uwshrt + U
(C) @& + U& (D) T + Uh

Swami Dayanand Saraswati was associated with
which district of Rajasthan?

(A) Jaipur (B) Kota

(C) Bharatpur (D) Ajmer

W TF= ST B T e 6 e B g

el a1’
(A) sEgL (B) @ler
(C) v (D) &Y

'Barchan’ land forms are associated with which of
the following physical regions?

(A) Coastal region  (B) Desert region

(Cy Hilly region (D) Plateau region
TEE Wl e ¥ @ few Wifqe e &
Hafyd & 7

(A) TET waer
(C) uddra wear

(B) Teweg yEy
(D) "o wew

Which of the following is the type of lron-ore?
(A) Galena (B) Bituminous

(C) Haematite (D) Anthracite

Fe & @ B de—oe Bifeengl

(A) Frem (B) fazfra

(C) ¥Herse (D) Ty

On 15t November, 2022, Falcon Heavy Rocket was
launched by which organisation?

(A) European Space Agency

(B) Skyroot Corporation

(C) Space-X Company

(D) Chinese Space Agency

| FeraE, 2022 %7 fpW HEIM &0 Hiehe gdr Uhe
@rg fopar T Y

(A) gUTaT WE o 3

(B) whEES IO &

(C) w9 Te &HU &

(D) < siafe uoldl gra

AMG 1 /\
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frg ot A sreudlyTg GuEg qEY & 7

(A) g (B) &38Rt
(C) wfdfes (D) sue

In between Teesta and Dihang river Himalaya is
known as -

(A) Punjab Himalaya

(B) Kumaon Himalaya

(C) Nepal Himalaya

(D) Assam Himalaya

foen Ten feg w6 F dr e S ST ® -
(A) W fEume™

(B) Fwry femmem

(C) Ut femme

(D) s Uy

InC which®state was Praja Mandal founded by
Raghuvar Dayal Goyal in 19427

(A), Bharatpur (B) Jaipur

(@) Alwar (D) Bikaner

foor Tyamm & TgaT T TEa A 1942 # wen Hea
& AT W 7
(A) W@y
(C) ey

(B) s@EYX
(D) ST

Sambo Lapung is associated with which sport?
(A) Pole Vault (BY Wrestling

(C) Chess (D) Weightlifting
e i R @ A G 37

(A) Uid dle (B) i

(C) siaist (D) R

In his address to the nation on its’ 76'h
Independence Day, Prime Minister Narendra Modi
set the tone for a 'Viksit Bharat' (Developed India)
by which year?

768 I foaqq AT U FH AW AT G H
U A TR AT A e ad aw et wa
%I ETSeT By ?
(A) 2040
(C) 2046

(B) 2044
(D) 2047

Square root of 915849 is -

915849 %1 aiqm & —
(A) 953 (B) 973
(C) 937 (D) 957
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In the absence of Governor of State, who takes the
responsibility of its office?

(A) Chief Minister

(B)Y Speaker of State Legislature

(C) Chief Secretary

(D) Chief Justice of State High Courts

T B IR § b el bl FrarE B
H B 7

(A) T Wl

(B) fagmasm sream

(©) T wh

(D) =9 =TT & T AT

Portrait and Landscape are options of :
(A) Paper Size

(B) Page Orientation

(C) Page Layout

(D) Page Size

dide ° wewhy famed B

(A) YT BT

(B) US e @

(C) U9 e H

(D) U WES (BT B

Due to its semiconductor properties the nenAmetal
used in computer, T.V. etc. is -

(A) Carbon (B) Silicon

(C) Sodium (D) Flucrine
FEATER U % BT HEYLY, AT, ST Iwm A
TN AR AT € -
(A) e

(C) wifEmw

(B) Tiforaa
(D) et

Choose the correct alternative in which missing
letters are in that order.

Tl fames @1 ggq St faed g9 s I8 w9
q e

“bab a  ab
(A) bbbbbaa
(C) bbaabab

_bb_
(B) abbaaba
(D) babaabb

AMG 1 /\

71

72

73

74

The question figure can be rotated in any direction
but can not be lifted and turn. ldentify the correct
figure from the given answer figures which can
not be obtained by rotating the question figure.

UsT STl bl fedll i faem & gATEn S weRer & wig
U ToTRT Rl TE S @ehaTl & M IR At §
Y IH HE AP D UEAH Y T A9 sepla @l
AR YT el fRaT ST Wbl & |

Question Figure / 937 i

)

Answer Figures / 5% spiaat

By which optical phenomenon does the splitting
of white light into seven constituent colours

(A) (B)

(©) (D)

occurs?
{A) Refraction (B) Reflection

(C) Dispersion (D) Interference

for el IRtaresT % 310 e Wasl @ faHeE |
ez qui o B B 7
(A) e

(C) avt faggor

(B) udEds
(D) =afirm

Which of the following is a source of income of
Gram Panchayat?

(A) Income Tax (B} Sales Tax

(C) Property Tax (D) Tax on Land

= o F s I TR S e & e § 7
(A) ST B (B) faspr &t

(C) wufa ax (D) sifir &%

Fill in the correct word :

Both Mansi and Milli the answer.
(A) know (B} knows
(C) knowing (D) knowed
[ Contd...
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Choose the words which are nearly opposite in
meaning to the underlined words :

Abolish

(A) Conform
(C) Eradicate

(B) Terminate
(D) Obliterate

weEH U WA H TEN e A § R w7
(A) &I ST 8 MY g7

(B) & &9 37 &l S|

(C) @& =l T

(D) &9 & S|

If a person has AB~ blood, who can donate
blood to him?

gfy us @k &1 @ AB~ ¥, dl @9 9§ tEem
HT THAT & 7

(A) A*, B, O, AB*

(B) A-, BY, O, AB-

(C) AB*, AB~, O, O~

(D) A,B.,O,AB

BUL T GE | BT JETEL Bl W oY B -
(A) & Su e (B) sgd ufesd e
(C) o e g (D) gU T® '

Which number system is generally adaptedyin a
typical 32-bit computer?

AT 32-bit T § HE-—H T, TTcll
arers foRan wTan & 7
(A) 2

(Cy 12

(B) 8
(D) 16

By selling 8 kiwi for ¥ 40, a man loses 20%. How
many should he sell for ¥ 30 to gain 20% in the
transaction?

8 ®rar T 40 H Juet UH HEH Wl 20% B THEE
BT 51T 30 F fepa BrdT Sa®e T 20% w1 W19 BT
(A) 2 (B) 3
() 4 (D) 5

The Indian Wildlife (Protection) Act was
implemented in the year

qRAE Tasig (gen) st ad |
@ el

(A) 1962 (B) 1972

(C) 1982 (D) 1992

AMG 1 /\

32

83

84

85

36

87

Area of a equilateral triangle is 40043 sg. m. then

perimeter is -
{A) 120 meter (B) 150 meter
{C) 90 meter (D) 135 meter

el Tatg B @ dewe 40043 e ¥ A
T T E -
(A) 120 drex
(C) 90 "X

(B) 150 drex
(D) 135 tirex

Who is considered to be "The Father of Artificial
Intelligence"?

(A) John Mc Carthy

(B) Allen Newell

(C) Alan Turing

(D) Mark Zuckerberg

‘g HIET A% ACHITTE Ffaora’ el S & —
(A) it Hepredl @

(B) g6, =g &1

(Q) et gl

(D51 TR

Shartcut key to save a document in MS Word is-
THUE g€ § SIS Hl G LA P 9w Poll § —
(A) Ctrl+ O (B) Ctrl+58
(C)“Ctrl + F (D) Ctrl+P

Which of the following sets of letters do not suffer
lateral inversion on reflection from a plane mirror?
e ore i & T A ¥ BA-F ol % 9 & Al
T HHAE U9 @ qIee afCerds @1 STl TEl e f
(A) HGA (B) CEP

(C) HOX (D) KUL

What are the commonly used catalysts for the
Fischer-Tropsch synthesis?

{A) Ruthenium (By Cobalt

{C) lron (D) Given all

fiRer—zrE Hewiw ¥ w1 oM A JEId: 0 © —
(A) =g (B) wHrETRe

(C) =T (D) fegr o =y

Hemananda Biswal was the first Tribal Chief
Minister of

{A) Assam

(B) Madhya Pradesh

{C) Arunachal Pradesh

(D) Odisha

A T, T & gAq aATieaTar
TeaHT o1

(A) erEw

(B) W= weaT

(C) STUEm WaeT

(D) snfssn
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93

HEH & g8 w9 T —
(A) et (B) Hemdis
(C) et (D) wrEEr

The average of 15 numbers is 40. In these average
of first 8 numbers is 30 and the average of last
8 numbers is 50. The value of eighth number is -
15 dwnat @ afea 40 81 ST wum 8 dee @
I 30 ST sifem 8 wenal w1 sfea 50 % o amedr
el &l °IE g —
(A) 45

(Cy 35

(B) 40
(D) 30

R. Praggnanandhaa is a famous player of which
sport?

(A) Cricket (B} Chess

(Cy Hockey (D) Billiards

AR, yoEE=T e B & gies faers €7

(A) fakz (B) st

(C) & (D) faferarss

A cube, painted red on all the faces, is cut into
125 cubes of equal size. How many cubes are
painted on three faces?

Ueh °T ] GHT TAsl @l @i 0 T § 139 125 9EE
gl § e A gl AW =9 @ O §ael @ @0
™ ¥ Y
(A) 10
(Cy 25

(B) 8
(D) 64

The excavations at Kalibangan were caffiedhout in
how many levels?

(A) One (B) Three

(C)y Five (D) Eight

HIAET B ST B febad @ o febgr TEn?
(A) T (B) diF

(C) dui= (D) atre

Which programmes are directly related to famine

relief?

(A) Desert Development Programme

(B} Desert Prone Area Programme

(C) NAREGA

(D) Desert Development Programme and Desert
Prone Area Programme both

BA-Y HRFA B ABA—T6d G G Ay 7

(A) Hewrg faerg hrdishH

(B) d@1 99T @9g HIEH

(C)y =am

(D) wewIm fa@m wdwEd ot @ 49 eEd
CIRER RG]

AMG 1 /\

94

95

96

97

98

10

Select the number group from the options which
is alike with the number group (2, 11, 56).

o IO Tamedt # @ S@ dEN wE @ 99 B a9l
e aqs (2, 11, 56) % @9 =

(A) (4, 20, 106) (B) (3, 16, &1)

{(C) (5, 26, 79) (D) (7, 35, 70)

On which occasion the female costume Pomcha is
worn?

(A) Birth of child

{B) Engagement

(C) Hariyali teej festival

(D) Gangaur festival

Afgar Wisnes diHar forg stEET UL vsAT WA 3 7
(A) o1y & 57

(B) gEg

(Q) =St

(DY S

Which sone of the following tributaries of Luni
docs not originate from Aravali Hills?

(B)Y Sukri river
{C) Sagi river (D) lojari river
FT=ifpd § & SE-HT T T4 B Hedd ALl SAE

(A) “Jawai river

weifeal § Igita W B £ 7
(A) wamg o (B) w@s1 T2
(C) =il 7=t (D) ST 7=

Fill in the blank with the correct determiner,
choosing from the options below :

There is milk in the glass; vou can use
it to make tea.

{A) a little (B) no

(C) little (D) any

The far point for a normal human eye is at -
{A) 25 cm

(B) 50 cm

(C) between 25 cm and infinity

(D) infinity

= A4 W= & A g feg e -

(A) 25 ¥l 9T

(B) 50 @ ut

(C) 25 89 of oM & 9rg o

(D) &= X
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100
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103

104

In how many districts Dang Area Development
Program is being implemented in Rajasthan?
TR o fohae el o si & fowrd ®Emd @
fepar o w1 2 7
(A) 6

(Cy 10

(B) 12
(D) 8

Who is involved in research work for conservation
of vultures in Rajasthan?

(A) Dau Lal Bohra

(B) Bhawna Tanwar

(C) Sumer Singh Bhati

(D) Anil Chopra

HA TR | g 9@ & 0 oEa™ s™ &Y
WY

(A) TT% A FE

(B) wre dax

(©) g e i

(D) arfe draeT

The famous 'Bam dance' is associated to which
district?

(A) Bharatpur (B) Bikaner

(Cy Jalore (D) Jaipur

gfeE 99 I T & 69 e 8 wafed g7
(A) AL (B) dmt

(€) SR (D) =EqT

Nobel Peace Prize 2022 has NOT beemmawarded
to activists from which one of the fellowing
countries?

(A) Belarus (B} Ukraing

(C) Russia () Philippines

TS gTfa gLERR-2022 FrefiEg Sealhy 337 %
Hharal H Tel f&Gr 7

(A) e (B)

(C) &= (D) fferdi|

The fair related to which Tribe is held in Sitabari?
(A) Garasiva (B) Bheel-Meena

(C) Sahariya (D) Kalbeliya

Wl § 6T S § g den e ® 7
(A) TulEn (B) -

(C) =i (D) et
'REIMBURSE' @ foq @& qiivamiies s & -
(A) wieyfd (B) emqfd

(C) afmfa (D) "t
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105 Gregor Mendel used

106

108

109

plant for genetic
experiments.

(A) Pisum sativum

(B) Triticum aestivam

(C) Oryza sativa

(D) Gossypium hirsutum

YT Hew o agaiiyes yam & g UTEY
TR TR At

(A) wEa deraq

(B) &wm gl

(C) oz gerzan

(D) ikt feges

The Ahirwati dialect is spoken mainly in the
district of Rajasthan.

(A) Jaipur (B} Alwar

{C) Bharatpur (D) Jhunjhunu

HAEIET el &7 ®9 ¥ TS % forer o
Fiwl STEr < |

(A) STEg (B) aremax

(C)p YT (D) =1

Ranipur Wildlife Sanctuary is declared as Tiger
Reserve of

(A) Bihar (BY Uttar Pradesh

(C) Jharkhand (D) Odisha

YR a=asie SATEed Bl Wl 2 T
RUECREDIRIC I

(A) fasx (B) ST 9a9T

(C) w@vs (D) anfssm

If 2x—3y =79 and x+ 6y =47, then the value of
(x—y) is -

T 2x -3y =79 WA x4+ 6p =47 T, A (x—y) Bl
HA B -
(A) 40
(C) 38

(B) 42
(D) 44

The space craft launched by NASA to study the
Sun is -

(A) Probing Sun

(B) Mission on Sun

{C) Hawking Solar Probe

(D) Parker Solar Probe

T @l S % oo A g gafa st e -
(A) Wit &=

(B) s ot &=

(C) ®ipT |@T o

(D) Wt W@ Wi
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Read the following passage and answer the
question that follows :
The human mind, like nature, abhors a vacuum, it
must be kept constantly supplied with ideas and
ideals, great and noble, which in their turn will
inspire great and noble work. Unfortunately, there
are people who want to avoid serious thinking and
prefer instead idleness of mind and body. So, in
place of active, ennobling ideas, their minds are
filled with loose mean and foolish thoughts which
slowly corrode all nobleness and replace it by evil
and mischievous notions, such men then do not
shrink from any evil and freely indulge in quarrels,
thefts, robbery and even murder. The only effective
way of saving a man from such a terrible fate is
to keep him constantly occupied with various kinds
of useful and good work.
Choose the most important idea of the passage
from the options below :
(A) Man must be kept busy all the time.
(B) ldle persons do harm to others.
(CYy Always keep occupied with noble thoughts
and ideals.
(D) Some people like idleness of mind and body.

The missing term in the following series
37, 40, 45, 52, 61, 72, 85, 7 is
frafafga oot F qa s & -

37, 40, 45, 52, 61, 72, 85, ?

(A) 98 (B) 99

(Cy 100 (D) 101

Which river is not a left bank tributary of the
river Ganga?

(A) Kosi (B} Yamuna

(C) Gandak (D) Ghaghara

TN 947 B BT T4 G TRATE i, TETdeh, 1ol

T BT

(A) (B) =g
(C) T=w (D) =&
Indira Gandhi Canal programmeSfor forest

development project is a joint venture of overseas
economic co-operation fund. Which two countries
are involved for the project?

(A) India and Canada

(B) India and China

(C) India and Japan

(D) India and Bangladesh

gfgar MY =Y gfE=T it giei=Ee overseas
economic co-operation fund ®1 ¥ €EH T
frfeted & 4 94 31 Y & 499 98 guEEr
gam Ay

(A) WTLE ST &=

(B) i ot 9

(C) wE ST s

(D) AT 3T SR
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115

116

117

118

119

114 fFefafad & o s fwar & am gy -

(A) T 9% o W2
(B) 9% yam ¥ U ferganar 1
(C) o I & T B

(D) Tueran gEa B

Which district of Rajasthan tops in the production
of Gypsum?

(A) Ajmer (B) Barmer

(C) Bikaner (D) Kota

e % ThE fel & s @ Ided gaiys
BT & 7

(A) 3T
(C) e

(B) arsHT
(D) e

If the following words are arranged in alphabetical
ordér, which word will come in the middle?

s, FrfeiEd STRT & auimAEr e fea sy
AT T 9TsE Hew § AT ?
Chéque, Cheroot, Cheese, Cherish, Chemise

(A) Cheque (By Cheese
(C)._LCherish (D) Chemise

Complete the following sentence choosing the
correct preposition,

I somehow managed to walk the
broken bridge.

(A) between (B) across

(C) in (D) at

Leopard rehabilitation programme is initiated at

maner 700

(B) Jaisalmer Cacti garden

{C) Kota zoo

(D) laipur zoo

AZ A HRHA 916 fhan mar —
(A) SIBMT T 8

(B) SH@HT ANTEAT @ H

(C) ®reT Sgaea ¥

(D) srye sigened &

The adjacent angles on a straight line are in the
ratio 5 : 4, then the smaller angle is -
uF Hrdh @ O e B 504 % o ® ¥, 99
BIZ H H A & -
(A) 60°
(C) 80°

(B) 70°
(D) 90°
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124

125

The value of

log,2-log, 3 logs4-log,5-log,6-logy7 is -
log,2 log,3 log.4d - log,5 log,6-log,7 @i
a2

(A) (B)

1
2

Ll | —

(©) D) 7

| —

From which of the Harappan period site has the
evidence of an inscription been found?

(A) Lothal (B) Mohenjodaro

(C) Dholavira (D) Rakhigarhi

e o 9 fopw ssvmeRiE w2 @ gaW vz sfherd @
A T & 7

(A) wras (B) HrETwies!

(C) g (D) @

Indian Space Research Organization (ISRO) was
formed in .

A Hafie SgEu e a4 ¥ wrig
TATI

(A) 1963 (B) 1969

(€©) 1972 (D) 1985

Which of the following bridge was connecting link
between Russia and Ukraine?

(A) Nook Bridge (B} Mariupul Bridge

(C) Irpin Bridge (D) Kerch Bridge
frrfted & o -8 §0 &9 a7 Ieh SIS dell

foiem e ?

(A) % fo= (B) wifegen o
(C) A o= (D) =% &=
Where is Rajasthan Petro Zone logated?
(A) Alwar (B} Jodhpur
(C) Barmer (D) Jaisalmer
TR Y- %el fead 27

(A) arat (B) wi&qY

(C) argat (D) SEe™T

Which of the following ailments can be prevented
by maintaining a balanced blood pressure?

(A) Heart Attack (BY Typhoid

(C) Jaundice (D) Rheumatism

I @l dgfed v 4, fFefaiad & 9 feg aniy
H a1 S qHaT €7
(A) weomEr

(Cy Nferar

(B) Zmwizs
(D) i
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128

129

130

126 In the Constitution of India, the term 'Federal' used

(A) in the Preamble

(B) in Part Il of the Constitution
{C) in Article 368

(D) Nowhere

g gfeae § w9 g -

(A) SRRt & wge garm @

(B) wfqar & w1 111 § wged gan @
(C) oTJa 368 W ygad gom &

(D) wE W 7gad T gan &

U o fauag & g Bud & —

(A) T8 Trdeie 991 & 0 HeamEn & ey
fear wman &

(B) 9 ¥ 7 ‘UEied €S gl 7 was -
IEEEd

(C) ¥ &= 7o9 St § femar sman #)

(D) WA Us & A=, fawm eruer s W e
e ar sehAey ity srgar sl @l R
T 2

If AABCZAPQR and AABC is not congruent to
ARPQ /fthen which of the following is not true?
4iz AABC = APQR a1 AABC., ARPQ® gaiad
TEl & o Frefafeg § @ o6 o e g7

(A) AC =PR (BY AB = PQ

(@) BC =PQ (D) BC =QR

Where is 'Desert National Park’ situated ?
{A) Bikaner — Jaisalmer

{(B) Jaisalmer — Barmer

{C) Barmer — Jalore

(D) Jaisalmer — Jodhpur

U HeIH el Rad & 7

(A) d@FR — SHAHT

(B) wEwHL — W1gdY

(C) 9=HT — T

(D) SEEHT — Sy

Governor appoints the members and chairman of
State Human Rights Commission on the
recommendation of a committee headed by :
(A) Home Minister

{B) Chief Minister

{C) Leader of opposition

{D) Speaker

TG AFETIER TG & HeEe Ud Tewi o g
TSI U MG B I U B & Rorae s
Frafafas & & &9 s 22

(A) T

(B) e

(C) Ta=m=aYr & =ar vkdus

(D) fagme e
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Which is the first state in the country to constitute
a 'Department of Peace and Non-violence'?

(A) Punjab (B} Rajasthan

(C) Haryana (D) Gujarat

‘T ST TR fq9mT TTied ®ed AT 29 % I8
T HHA-41 &7
(A) U5

(C) =wfeamm

(B) Tt
(D) =0

Which number should be subtracted from 23, 30,
57 and 78 so that remaining numbers are in
proportion?

23,30, 57 AT 78 ® ¥ w0 FEA U2E 9N 6 9w
HEA FHIA B 7
(A) 6

(Cy 8

(B) 7
(D) 9

In the Birmingham Commonwealth Games 2022,
India won __ medals.

AT UEAved wdl, 2022 F, ARg Y 99@ S|
(A) 35 (B) 49
(C) 51 (D) 61

Can Governor promulgate the ordinance during
the session of State Legislative Assembly?

(A) Yes

(B) No

(C) With the prior consent of President

(D) On the advise of Council of Ministers

N I T & [GUFHsA & G H 4@ & aiA
HEATEST ALY HT FhaAT &7

(A) =

(B) &

(C) Tate @ gty &

(D) wifg % T

In which district of Rajasthan a multipurpose
irrigation project Parwan' is under execution?
(A) Jaipur (B) Banswara

(C) Jhalawar (D) Chittorgarh

T < fpg fael o agegsia fiar aiasm aE
frmfonee & 7
(A) gt
(€) AemEs

(B) et

(D) Ta<ireTs

136

137

138

139

140

141
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In which year Rajasthan State Handloom
Development Corporation was constituted?

TN T st faem e ad F dfafig

EELR 1
(A) 1984 (B) 1983
(C) 1985 (D) 1986

On the recommendation of which committee was
Matsya Union integrated in Greater Rajasthan?
(A) Fazal Ali Committee

(B) Vyas Samiti

(C) Shankar Rac Dev Samiti

(D) Varma Samiti

o € @l geq e | e wifa @l Rt o
R T ?

(A) &I ol |ifa

(B) o8, |Mf

(Q) simiudysa auig

(Dynast afifa

Choose ghe word that is nearest in meaning to the
underlined word :
Pernicious

(A) harmful

(C) conducive

(B) innocuous
(D) reticent

The fifth edition of Khelo India Youth Games,
2022 will be held in which state?

(A) Gujarat (B) Madhya Pradesh

(C) Uttar Pradesh (D) Haryana

T A 99 e, 2022 F OrEEl 9@ 6E 0o
H AT TRl SR ¢
(A) o

(C) ZTC W&

(B) =& wed
(D) sfmm

Who wrote "Bikaner Ke Rathore Ri Khyat"?
(A) Nainsi (B) Kavimaan

(C) Dayaldas (D) Surajbhan
AT & oS T W' & Aud i oA P

(A) =g (B) wigam

(C) =wgme™ (D) g\ e

In which of the following States 'Hirakud' dam
is situated?

(A) Haryana (B) Odisha

(C) Jharkhand (D) West Bengal
T’ Sy Pt § & e g ¥ R #7
(A) s (B) anfsem

(C) sEs (D) diygg s
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The page to create presentation in Power Point is
called -

(A) sheet

(B) paper

(C) document

(D) slide

Ut Ulg § YRy oM % MU O wEewn & -
(A) e (sheet)

(B) 97X (paper)

(C) st#gHe (document)

(D) =Es (slide)

Which Article in the Indian Constitution deals with
the amendment procedure?

(A) Article 352 (B) Article 356

(C) Article 268 (D) Article 368

ARG |fau & e orgess o dfqus |@slies wiwea
IR R

(A) ar@e 352
(C) o= 268

(B) o173 356
(D) e =3 368

Rammat Folk Drama belongs to which area of
Rajasthan?

(A) Bharatpur (B)Y Dausa

(Cy Udaipur (D) Bikaner

TG W 2T oW & g a7 § giad &2
(A) =L (B)

(C) s=agy (D) dbrt

In which district of Rajasthan, secondileopard safari
of the state was started?

(A) Sawai Madhopur (B) Jaipus

(C)y Sikar (D) Alwar

e % e fae |, T @ gEd wuS "wrd 9%
B T ?

(A) HaE AN (B} sy
(C) #mBe (D) FwaT
A computer device mainly used to provide hard
copy is
(A) CRT (B} Printer
(C) Card reader (D) Scanner
HYY Sasd 7% ¥4 & TS HUI TaH B
% T8 Sudm § erar ¥
(A) CRT (B) Tex
(C) e {=x (D) T
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149
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147 Ramon Magsaysay Awardee, Ela Bhatt, who passed

away on November 2, 2022, was known for the
foundation of

AT TEE YT ferar 3o Wg, R 2 Jae, 2022

CA SR B e W WA fAy S
Gl

(A) VSSC (B) IRDA

(C) SEWA (D) WHG

Which agency financed Rajasthan Water Sector
Restructuring Project in Desert Area?

(A) World Bank

(B) IMF

{C) New Development Bank

(D)#Asian Development Bank

TN (o H6 & B o LIS gl H e
uryor g warEr o fepar 2 7

(A) fasa da

(B) GiTUEE g AW

(C) g saaudz d&

(D) ufyrgd sadude d&

Which place is famous for Namda?

{A) Tonk (BY Jaipur
(C) Bikaner (D) Barmer
a1 & g BE-w e uig &7
(A) F (B) v
(C) T (D) sTeHR

The points scored by a Kabaddi team in a series
of matches are as follows :

17,3, 7,27, 15, 5, 14, 8, 10, 25, 50, 10, 8, 7,
18, 29

The median of the points scored by the team is -
90 & graen ¥ ®aEl dW &0 99N T afe 39
T

17, 3,7, 27, 15, 5, 14, 8, 10, 25, 50, 10, 8, 7,
18, 29

M B S T el @i AIEE § -

(A) 12 (B) 10

(C) 25 (D) 18
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